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Directions: Read the following information and complete the provided handout.

Overview: What was the Cold War?

After being Allies during WWII, the U.S. and U.S.S.R. soon viewed each other with increasing suspicion. Their political differences created a climate of icy tension that plunged the two countries into an era of bitter rivalry known as the Cold War. The rivalry between the two superpowers led to many indirect (proxy) wars. There was never a direct military engagement between the US and the Soviet Union, but there was half a century of military buildup as well as political battles for support around the world. Tensions lasted until the break up of the USSR in the early 1990’s.

Causes of the Cold War

1.  The Soviet Union was a Communist country, ruled by a dictator, who cared little about human rights. 
The USA was a capitalist democracy which valued freedom.

2. Stalin wanted huge reparations from Germany, and a ‘buffer’ of friendly states to protect the USSR from

being invaded again.

Britain and the USA wanted to protect democracy, and help Germany to recover. They were worried that large areas of eastern Europe were falling under Soviet control.

3. The Soviet Union could not forget that in 1918 Britain and the USA had tried to destroy the Russian Revolution. Stalin also thought that they had not given him enough help in the Second World War.

Britain and the USA could not forget that Stalin had signed the Nazi-Soviet Pact with Germany in 1939.

4. Neither side trusted each other. Every action they took made them hate each other more.

How did the United States respond to communism?

Truman began a policy of containment—blocking the Soviets from spreading communism. Under the Truman Doctrine, the United States helped nations that were threatened by communism. The United States also adopted the Marshall Plan in 1947. This plan gave food and other aid to European countries to help them recover from the war. In 1948, the Soviets and Americans clashed over Germany. France, Britain, and the United States agreed to pull their troops out of Germany. They let the three zones that they occupied unite. But the Soviets refused to leave their zone. Then they cut off all highway and train traffic into Berlin,

which was deep within the Soviet zone. The United States and Britain responded with the Berlin airlift. They flew food and supplies into the city for 11 months. Finally, the Soviets lifted the blockade.
Tensions between Super Powers increase

The struggle between the United States and the Soviet Union was called the Cold War. Many countries supported one superpower or the other. The United States, Canada, and several countries in Western Europe formed the North  Atlantic Treaty Organization (NATO). NATO was a military alliance. Each nation promised to defend any other member that was attacked. The Soviets and the countries of Eastern Europe made a similar agreement. It was called the Warsaw Pact. In 1949, the Soviet Union announced that it had developed an atomic bomb. Three years later,

both superpowers had an even more deadly weapon—the hydrogen bomb. Soon both nations were involved in an arms race. They produced more and more nuclear weapons and developed new ways to deliver them. Both sides were willing

to go to the brink, or edge, of war. This became known as brinkmanship. In 1957, the Soviet Union launched Sputnik,

the world’s first human-made satellite. Many people were shocked. Americans felt that the Soviets were far ahead in science and technology. The United States then began spending huge amounts of money to improve science education. The U-2 incident brought more tension. The United States sent planes, called U-2 planes, to spy over Soviet territory. One was shot down in 1960.

Iron Curtain

At the end of World War II, Soviet forces occupied lands along its western border. After the war, Stalin
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made sure Communist governments were in place in these lands: Albania, Bulgaria, Hungary, Czechoslovakia, Romania, Poland, and Yugoslavia. This divided Europe between East and West.

Winston Churchill called this division the “iron curtain.”

Soviet Union Characteristics
Communism: “An economic system in which all means of production are owned by the people

· land, factories, railroads, and businesses private property does not exist

· all goods and services are to be shared equally

· In theory there are no social classes- but they still existed in the USSR

Totalitarianism: Under Stalin the Soviet Union took control of all aspects of both public and private life

Motives: 

· Encourage communism in other countries as part of a world wide worker’s revolution

· Control Eastern Europe to protect Soviet borders & limit U.S. influence 
· Keep Germany divided to prevent them from waging war again

United States Characteristics
Democracy: America is a democracy that has a capitalist economic system, free elections, & competing political parties

Capitalism: An economic system in which money is invested with the goal of making more money (profit)
Motives:

· Encourage democracy in other countries in order to help prevent the rise of Communist government
· Rebuild European governments to promote stability & create new markets for American goods

· Reunite Germany to stabilize it & increase the security of Europe
